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12ax? — 12axy + 3ay? = AEoloH?

@ 12(ax — ay)? @ 6a(x—y)?

@ 3a(x-y)? ©3a(2x -y)?

® (6ax — ay)?

12ax? — 12axy + 3ay* = 3a(4x? — 4xy + y?)
= 3a(2x - y)?




2. TS A - 618 A5 Baetu?

@ (a+8)(a-3) ® (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)

® (a+16)(a—4)

‘ a’>-64 =a*-8%= (a+8)(a-28)
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(&4]) = 3x2 — axy — 9xy + 3ay?

—a-9=-14 La=>5
S 3a=3x5=15
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D x®-5x-6=(x—2)(x—3)
@ 12x - 4x® = 4x(x - 3)
@x2 - 1dx+49 = (x-7)?

@ 3x* +5x—-2=(x—2)(3x+1)

@‘W - 9b® = (2a - 3b)(2a + 3b)

@ (x=6)(x+1)
@ —4x(x - 3)
@ (x+2)(3x-1)
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X2 - 6x+8 T} 352 - Tx 4+ 2 9] T A5E Fotolet.
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¥ —6x+8=(x-4)(x-2)
3x2—Tx+2=(3x-1)(x-2)
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2 4 Ax-3 9] @ A57Fx -3 A 0, A O] S ool

2x2 +Ax-3=(x-3)(2x+a)
=2x>+ (a—6)x-3a

-3a=-3, .a=1

" A=a-6=-5




7. xX*-(?-6y+9) & dFEolstdA?

@ (x-y=-5)(x—y+2) @ (x-y+5)(x—y+2)
® (x+y-3)(x-y-3) @ (x+y+3)(x-y+3)
@ (x+y-3)(x-y+3)

x* = (y* - 6y +9)
=x*-(y-3)
=(x+y-3)(x-y+3)
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x(x+1D)x+2)(x+3)+1
=x(@O)x (x+1)(@)+1
=(x*+3x)(®) +1

(@) =Ag}sHH

A2 424 +1=(A+1)2=(®)?

® x+3 @ x+2
@x2+3 ® ¥ +3x+1

® x2+3x+2

@ x2 + 3x




9. o Fx%-y*-2x+2y 9 A ALY

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x=y)—2(x-y)=(x+y-2)(x-y)
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x=-3+ Vb & ], x* 4+ 6x+9 O F& FoHH?

x24+6x+9=(x+3)2=(-3+V5+3)2=5




11. 4v-3 9] 4 —ax 16 9 142 1, 4 2] FS Fajodat.
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> HE a=11
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4x%> —ax+6 = (4x - 3)(x + p)
=4x? +4px-3x-3p
=4x* + (4p-3)x-3p

-3p=6, p=-20°]1,
dp-3=-a, a=11 o|tt,




12. S A a?b+ab-a-1,a%2-ab+a-b9 ZT5

>
> He a+1
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Q15 Fatofet,

a’b+ab-a-1=ab(a+1)-(a+1)
=(a+1)(ab-1)

a*—ab+a-b=a(a-b)+ (a-b)
=(a-b)(a+1)
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n%+6n—-27=(n+9)(n-3)
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n-3<n+99B=2p-3=1
n=4,n>+6n-27=16+24-27=13




14. o2 ax? —19x+b 7 (x—5) % (3x—4) & A5 AL W), a+ b
o] gt& Fotofat,

ax®> - 19x+b = (x-5) (3x —4) = 3x% - 19x + 20
a=3,b=20
sLa+b=34+20=23




15. 2 +ax-20 9 ¢ F o7t x+4 Q4 o, a o] 322

-2 @-1 oo @ 1 ® 2

¥ +ax—20=(x+4)(x-5) a=-1
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552 v SHAEY 42 - 8x+ 6 o 9ck.

O (x+1)(x+2) @ x+2)(x+3) @+2)(x+9)

@ (x+3)(x+5) @ (x+2)(x+6)

X2 -8x+6 o x> +8x+6—>x2+6x+8— (x+2)(x+4)
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O AAE VLB 2y + 42 + %u(y + 4) -8 =
+

(xy+Ax+B)(xy+Cx+D) & @, A+ B+ C+D 9 = 5}
of &,
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> & 10

y+4=1=2 A5

C(y+4)2+2x(y+4)-8

= x%% 4 2xt — 8

= (xt +4) (xt - 2)

={x(+)+4} {x(+4) -2}

= (xy +4x+4) (xy + 4x - 2)

et A=B=C=4,D=-2°22 A+B+C+D=10
oftt.




18. ¥ —y? +10yz - 2522 & AFEalotAEY (ax +y + bz)(x —y + ¢2)
7} =3k ol a — b + ¢ 9] 7Y

@ 7 @11 ® 16 @ 32 © 64

B *

x% = y? 4+ 10yz — 25z% = x% — (y? — 10yz + 25z2)
= - (y-52)°
=(x+y-57)(x—y+5z) °|B2
a=1,b=-5,c=5
La-b+c=11
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2 —y? 4+ 8x+4y+12

O (x+y+3)(x—-y+4) @ (x+y+4)(x-y+3)
@ (x+y+2)(x+y+6) @ (x+y-2)(x-y-6)
@ +y+2(x-y+6)

22+ 8x—(y? —4y-12)
=x2+8x—(y+2)(y-6)
=(x+y+2)(x—y+6)
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2o, 2(x+y) o gh= 7ohE?

OV @296 G)1vE @66 O 846

Felsteld, x = V8- v2,y= V3+ V2
2x+y) =2(V3- V24 V3+ V2) =2(2V3) =43
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21. «x 5 Y= A ], x2 —y? o] Fh2?

@V @23 022 @-v6 0

=y = (x+y)(x-y)
V3+ V2 V-2
2 T 2
V3+V2 V3-2
2 2

~(2V3 2V2
“\2 )
= V3x V2= 16




® (a-2)(b-1)

@ abb-1)-2(b-1)
@av+2

@ b(a-2)-(a-2)

® ab-2b—-a—+2

~&B

AR B2 Qol: (a-2)(b-1)
@ab-1)-20b-1)=(a-2)(b-1)
® ab +2
®ba-2)-(a-2)=(a-2)(b-1)

®ab-2b-a+2=alb-1)-2(b-1)=(a-2)(b-1)




23. ax®+24x+b = (3x+c)* LW, =T a, b, ¢ &GS A= Fo1E?

D a=9,b=16, c= -4 @ a=9,b=8,c=14
®a=9,b=16, c=2 @a:g,b:16,c:4

® a=3,b=-8 c=4

B ~

(3x +¢)? = 9x% + 6cx + 2

a=9
6c=24, c=4
b=¢c2, b=16

La=9 b=16, c=14
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a7 z | z
z 1 1
gz 1 1

Zyol= 2 +4x+4
P 4ax+4=(x+2)32
b gk WOl dol= (x +2)




25. 2262 4+10% — 142 + 182 — 222 + 262 — 302 & AlAtstoda},
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>
> H=E: 512
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(£ A) =(2-6)(2+6) + (10 - 14)(10 + 14)
+ (18 — 22)(18 + 22)
+ (26 — 30)(26 + 30)
= —4(2+6+10 + 14 + 18 + 22 4 26 + 30)
=—-4x4x32
= -512




